FHSEELERMEMIIEEEETHESFMEBRRICONT
1 HERXEREETE

il $H St 5 = % H ## E B
I BHE s 6 430 H (k)
R | H A 12 B A TH 1H R 600
2 H
H — THTH 0K
250
e 8H (k)
1-2HH i THI13H (k)
25O 14 H (k)
*?;fﬁ?f% o - 245D 9H21H (k) 260
s EIHHFEII{; 3HH N0 9H 228 (K)
i 11 A 17T H (K)
p— =250 18 H (K)
4-5HH o 11 A25H (k)
=25© 26 0 (K)
P 6416 H (K)
. %0 17 H (k)
' P 6 H22H (k)
. %@ 23 B (k)
fi{?ﬂ;‘% T4 230 818 H (k) 400
E 3HH 250 8H19H (k)
250 11H 48 (K
4B8H 210 11A 5H (&)
S04 4
1A 128 (K
\ 1-2-3HH 133 (k)
FALHFE Elikidesl 14 H (&) 100
(5 HTE) S04 4
4-5 A 125 H (k)
26 H (K)
2 Y—EXREEERERVUREREIXIEEEREEEWE
Fit $H it 7k = % H 2 i =|
HwE1HA 20
(S5 3tE) A s0R
e 12A8H (k)
=50 9H (K)
FEREHE FTA 600
(3 HfH) i 12415 0 (K)
=45©@ 16 H (K)
e 127228 (K)
eSO 23 A (k)
N4 B
0 2H 28 (K)
3 H (K)
FEEHHE mRa s (k)
S = ErES =31 2H 8H (. 600
(2 HIH) R 7 9 H (K)
4 A
£383) 2H 168 (K)
170 (k)
10 6 H (K)
280 R
T o 10 A 13 H (K)
%ﬂé};ﬁ%’; FrTA 250 14 H (K) 600
o 107190 (K)
250 20 0 (F)




